1.

@ b] = (a+b)2 Do, [2x, —3y] - 2x [-x, 2] B 73] 547

@ 2x2_4xy—2y2 @ 2x2—4xy+2y2
©®)2x? - axy + 52 @ 2x° + dxy +)?

® 2x% + 4xy + 4y?

(2x - 3y)2 — 2 x (—x + 2y)?
= 4x% - 12xy + 9y — 2(x2 — dxy + 4?)
= 2x2 — 4xy +y?




1\? 3
<5x— §y) = NSt ax? — 5xy + by? ©|t}t. ojnf, A a, bl

thate] 2 o gre?
® 5 @ 10 ® 25 @100 ® 125

B ~

1 1\? 1
(5x)% =2 x 5x x §y L (iy) = 25x% — 5xy + é_lyQ

a
- =25x4=100
b X




2 3 2 3
3, 2 3 2
32 ¢ 2 2 O 2 _ 3y 242
) gx xy+3§ @ gx 2xy 2V
® S +120y+ 2y° @ x4 5y
32 2,
©) SR




4. (2-1)(2+1)(22 +1)(2* +1)& o] 5FH?

® 63 @ 65 ® 127 @ 129 ®)255

(22-1)(22 + (2 +1) = (2 - 1)(2* + 1)
=28_1
=256 —1 =255




;(Zx -y)(3x+ 2y)—g(x 2y)(4x+3y) & Aol A xy o] Alg=7?

22 15 23
®§ @ = ®?

47
@T o3

3(2x ¥)(3x+2y) & (xy & AlG)=

=2 (29 (4 3y) ©) (o & AR)=

oIet.
wepA] Foi7l Ao xy o] Ak

Ly
3

1 1
—{(=1)x3+2x2} = = o]
3{( )X3+2x2} 5 |

—g{(—z)x4+1x3}= B

15 47
— = _—_—_0O
5 =5 oIt




(x-2y-12&4d

AL C AT, A4 B4 C O RS Tool
> E:

> A 0

Metd= x> A AFE A, x 2 AFE B,

(x-2y-1)(x-2y-1)
=x2-2xy—x-2xy+ 42 +2y—x+2y+1
=x>—dxy+4y® -2x+4y+1

2O ArEL, x Y Are -2, FeF2 1 0oth
E}E}A1A=1,B:—2,c=1°1ﬂr.
LA+B+C=1-2+1=0




(

(A o] Hel)

(2a—|—2b

2
1 1 1
5 ) X = —ma’ X = +nab®x =

2 2 2
T la+b)?-a®+p?
2

g(2ab+2b2)
n(ab + b?)
o] yol)
2a+2b\? 1 1 1
(a—;— ) ><§—|—7ra2><5—7rb2><§

5 {(a+b)*+a> - b?}

g(2ab + 2a?)

n(ab + a?)
. B-A = n(ab + a®) — n(ab + b?)

= n(a® - b?)

=n(a—-b)(a+b)




r

429

(x=y+2)(x—y-3)2 A7shd] 74 44

@ix-»+Mx-9-3 @ (x=(+5)x—(r-3))
® {(x+2) - yH(x=3) -y @ {x-(y+2)H(x-y) -3}
® ((x—y) + x— (- 3))

AL ((x-y) +2H(x—y) - 3} 22 FOl A x -y = 1 2 X5}
ANt Ao] 7HAF A A5}t




B 0 = L2 olm socor @) r@ss) + =3 2l a

b, ¢ 9| gh& A7 At = F-5heiet,

=
| — ]

i

X
o
S
I

w

v vv.vwvyy
0
iy
I

0
o
[
|
—_
N

1+ 3" 1
flx)= 3 :1+§

3¢ x 2f(1)£(2)£(4)£(8) + b = 3¢ A

e 17 _
2@ fW e = St = T2

Loa=16, b=3, c =17




10. T oA x2 —ax—-15, 2x2 - 9x+ b 9

a+b 9 3E Folt.
’ CF
> HE a+b=7

=
S

¥ —ax—-15= (x-3) (x+5)
—-a=-3+5, a=-2
2x2 - 9x+b=(x-3)(2x+¢q)




11. ohg Ao] ghaAlgAle] e[ hef ggre

@ x2-12x+[ |
® 9+ +1
® x2-[ Jx+100

@ 4x2-] x+25

@x2 +18x+] |

il
L,

o

B
122
o[0=(3) =3
@[ J=2x2x5=20
®[ J]=2x3x1=6

o0-(3) -=
®[ ]=2x10=20




12.

f(x) =4x+2, g(x) = 6x% — 5x — 4 °f| th5}o]

Letold of, 2ab ©] ghe F5HH?

g(x)

f(x)

® 12

=ax+b =




13. ANZE & &5 a, b, ¢ ° 5t 2a+2b+2ab = 46, b+ c+be = 59,
3c+3a+3ca=117°] BT W], abc 9] F-& F5toi=t

2a + 2b + 2ab = 46 A

a+b+ab=23, (a+1)(b+1)=24

b+ c + bc = 59 oA

(b+1)(c+1)=60

3¢+ 3a + 3ca = 117 9| A

c+a+ca=39, (c+1)(a+1)=40

Al A& 25 F5tH

{(a+1)(b+1)(c+1)}2 =24x60x40
“(@a+1)(B+1)(c+1) =240

a, b, c 7t A2 O E A E5o0lB2

(a+1), (b+1), (c+1) 2 A& & A B=o]ofof qirt.
240 & A5-E3l5HH, 24 x 3 x5 o|B=R

Fol A 240 o] =L F 4=9] Fo| Z+z} 24, 60, 40 A &A4=2
=X

(@a+1, b+1, c+1)= (4, 6, 10) ©|T}.

(a+1, b+1, c+1)= (4, 6, 10) Q! 2%,

a=3,b="5 ¢c=9°2Z gbc =135




1
I - x4+

6

1
—Zx—2Z

6

14, o5 F ¥?

1
3

® x+

® x+1 @ x-1

D!

1
2

® x+




15.

o 1l 7]

il

o2 47} 1 2 AR Aedh2 Ae

H7]

@ 3x%?-2x—-8= (x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x-D)

it

i

02
i
S

03
iy
S

v vV v vVvvyvyvyy
a

0
i
>

~&B

@3x2-2x-8=(x-2)(3x+4)

LA=-2,B=3
© 4x* + Cx-3 = (2x-1)(2x+3)
.C=4,D=-3

A=-2,B=3,D=-3, C=40°|82 7}IF Z AR A=t}
2 AW C, B, A, D °|t}.




16. tgol Foi7 F Ao it ez 51 A27

A =a®b - ab?
B =da® - ab?

@ A A o e 7 Mol

@ (a+b) = A B9 dgolth

® A B 9 94 7 el

@)4 A ¢4 B 9 35 A4E (a-b) oIt

® ab = A A 9] 1ol

~&B

A = a?b —ab* = ab(a-b)

B =a%-ab? =a(a®> - b*) =ala-b)(a+b)

21 A 9 QIZE=a, b, (a—b), ab, a(a-b), b(a-b), ab(a - b)
o2z 7 7jjo|tt.

2 B9 Q14==a, (a—b), (a+b), a(a—b), a(a+b), (a—b)(a+b),
a(a—b)(a+ b) |22 77jjo]T},







18.

e a®+3a 5 tix]is}
9, © = A= 1

nJR

(a®> +3a—2)(a® +3a+4) - 27
=(-2)(t+4)-27=~+2-Q
=(t+0O)(t-©)

= (a*+3a+ ©)(a® + 3a - ©)

® 35,5,7 ® 27,7,5 ® 27,5,7
@ 35,7,-5 @ 35,7,5

~&B

a®>+3a =12t 5t
(t=2)(t+4)-27

=12 +2t-35

=(t+7)(t=5)

= (a®> +3a+7)(a® + 3a-5)
et @ =35 © =7, ©=5 °Jth.




2a - b)® - (2a + b)?
=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab




20. THSE P -a?—a+ 19] A57} ohd AL BE B Q1] TS

D a®+1 © a®>-1 ©® a+1
® a-1 @ a*+1
o144 @24 @34 @44 O Qo
a-a’-a+1=a*Ga-1)-(a-1)

=(a®-1)(a-1)

(a-1)%(a+1)
OHA @ —a® —a+ 19 AU A2 O, ©, @°122 157}
obd 712 ¥ 2 7ol




21, 49x* -9+ ldxy +y? = AFEHSHAEY (ax+y +b)(ax+cy + 3)
7F =3}, oldl, &4 a, b, ¢ o W5kl a - b+ ¢ O gL& F5HA?

@ 2 @ 4 ® 6 @11 ® 16

B ,

49x2 + 14xy +y* -9 = (Tx +y)? - 32
=(Tx+y+3)(Tx+y-3)

a=T7,b=-3,c=1

La—-b+c=11




22. #* -y —x+5y-6=A(x+y-3) . A5 7o

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

22—y —x+5y—6
=x*—x— (> -5y +6)
=x?—x-(y-3)(y-2)
={x+0-3)}{x-0-2)}
=@ +y-3)(x-y+2)
LA=x-y+2




23.

QAR FAL o] gotol theS AstetH?

22 42 + 62 - 82 +10% — 122 4 142 — 162

@ -128 @ -132 @—144 @ -156

® -162

B
(&)
=(2-4)(2+4)+(6-8)(6+8)

+(10-12) (10 + 12) + (14 — 16) (14 + 16)
=-2(6+14+22+30) = -144




24. % a, bl NS, a?b+ab® =12, a® +b* =28 4 W, a® + b 2]
= otofet,

>

> Hehl 10

~&B \

a’b + ab® = ab(a + b) = 12

a®+b% = (a+b)3 - 3ab(a+b) =28
a+b=X, ab=Y 2 | &sH

XY =12, X3 -3XY =28

L X=4,Y=3

watA a? 4+ b2 = X2 -2Y = 16 — 6 = 10 ©|t}.




25. x-y-3=0<% o, x2-2xy+y> - 5x+5y+ 1 9] 22

@© -7 @—5 ®1 @ 3 ® 5

(x—y)?-5(x-y)+1=3*-5x3+1
=9-15+1=-5




